Bewerkingen

Flexibel rekenen

5x,25x,50x,:5,:25,:50

5x 5420=( 10x 5420):2= 54200:2= 27100
25x 12800 =(100x 12800): 4= 1280000:4 = 320000
50 x 24 840 = (100 x 24 840) : 2= 2484 000 : 2 =1 242 000

> 5x_ =(10x__ ):2
2>25x  =(l100x__ ):4
>50x__ =(l00x__ ):2

455840: 5=( 455840: 10)x2=45584x2=91 168
1145000 :25 = (1145000 :100) x4 =11 450 x 4 = 45 800
2541 400 :50 = (2 541 400 :100) x 2 =25 414 x 2 = 50 828

5=(__ : (0)x2
(_ :100)x4
(_ :100)x2

9x, 11x
11 x7 860 =(10x7 860) + (1 x 7 860)

= 78600 + 7860 = 86 460
9x25140 =(10x 25 140) — (1 x 25 140)

251400 - 25140 =226 260

S>lx_ =(l0x__ )+(lx__ )

>9x  =(l0x_ )-(Ix_)




